三角函数天天练（9）
1.函数
[image: image1.wmf]x

x

x

f

cos

sin

)

(

=

的周期是___________; 最小值是____________________.

2.已知角
[image: image2.wmf]a

的终边过点P（
[image: image3.wmf]1

,

3

-

）则
[image: image4.wmf]=

a

sin

_________;
[image: image5.wmf]_______

__________

cos

=

a

.

3.
[image: image6.wmf]3

1

sin

-

=

x

,
[image: image7.wmf]x

是第三象限，
[image: image8.wmf]_______;

__________

cos

=

x



 EMBED Equation.3  [image: image9.wmf]=

x

tan

_________________.
4.函数
[image: image10.wmf]x

x

y

4

4

sin

cos

-

=

的周期是___________;增区间是__________________________.

5.已知
[image: image11.wmf])

45

sin(

a

+

o

＝
[image: image12.wmf]5

5

,则
[image: image13.wmf]=

a

2

sin

_____________________________________.
6.已知
[image: image14.wmf].

_____

__________

__________

tan

),

2

3

,

(

,

17

8

)

cos(

=

Î

=

-

a

p

p

a

a

p


7.若
[image: image15.wmf],

2

)

tan(

,

3

cos

sin

cos

sin

=

-

=

-

+

b

a

a

a

a

a

则
[image: image16.wmf])

2

tan(

a

b

-

＝_____________________.
8.在
[image: image17.wmf]ABC

D

中，已知
[image: image18.wmf]5

3

)

4

cos(

=

+

A

p

，则
[image: image19.wmf]A

2

cos

＝_____________________________.

9.已知锐角三角形
[image: image20.wmf]ABC

中，角
[image: image21.wmf]C

B

A

,

,

的对边分别是
[image: image22.wmf]c

b

a

,

,

，
[image: image23.wmf]2

2

2

3

tan

b

c

a

ac

B

-

+

=

，则角B的大小是____________________________________.

10.设
[image: image24.wmf])

4

3

,

4

(

p

p

a

Î

，
[image: image25.wmf])

4

,

0

(

p

b

Î

，
[image: image26.wmf])

4

cos(

p

a

-

＝
[image: image27.wmf]5

3

，
[image: image28.wmf],

13

5

)

4

3

sin(

=

+

b

p

则
[image: image29.wmf])

sin(

b

a

+

＝______.
11.在
[image: image30.wmf]ABC

D

中, 角
[image: image31.wmf]C

B

A

,

,

的对边分别是
[image: image32.wmf]c

b

a

,

,

，已知
[image: image33.wmf]1

,

3

,

3

=

=

=

b

a

A

p

，则
[image: image34.wmf].

__________

__________

=

c


12.设
[image: image35.wmf]c

b

a

,

,

分别是
[image: image36.wmf]ABC

D

三个内角
[image: image37.wmf]C

B

A

,

,

的对边，若
[image: image38.wmf]13

5

cos

,

5

3

cos

=

B

，
[image: image39.wmf].

____

sin

=

A


13.在
[image: image40.wmf]ABC

D

中，已知角
[image: image41.wmf],

60

o

=

B

最大边与最小边的比是
[image: image42.wmf]2

1

3

+

，则三角形的最大角是_____.

14.已知函数
[image: image43.wmf]x

x

x

x

f

sin

2

1

2

cos

2

sin

)

(

+

-

=

的(1)定义域是＝_______________________________.

  (2)设
[image: image44.wmf]a

为锐角，且
[image: image45.wmf]2

1

2

tan

=

a

，则
[image: image46.wmf])

(

a

f

＝________________________________________.
_1318259171.unknown

_1318259752.unknown

_1318259966.unknown

_1318260327.unknown

_1318260473.unknown

_1318260637.unknown

_1318260822.unknown

_1318260911.unknown

_1318260745.unknown

_1318260539.unknown

_1318260402.unknown

_1318260096.unknown

_1318260142.unknown

_1318259982.unknown

_1318259836.unknown

_1318259871.unknown

_1318259799.unknown

_1318259457.unknown

_1318259515.unknown

_1318259540.unknown

_1318259480.unknown

_1318259336.unknown

_1318259368.unknown

_1318259252.unknown

_1318247866.unknown

_1318258676.unknown

_1318258958.unknown

_1318259073.unknown

_1318258701.unknown

_1318248005.unknown

_1318258621.unknown

_1318247881.unknown

_1318247600.unknown

_1318247775.unknown

_1318247813.unknown

_1318247623.unknown

_1318247544.unknown

_1318247575.unknown

_1318247317.unknown

